FT=714vh"C1SYU—-X

| NPEEIIY

@ IUHAX
2250 B o o) 5
2 B ?;Hi Pl L | wn | A (| Bg zEe| P | P | W D | di | de (BN AEE HE
(mm) [(R=M)| (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mmd) | (g)
EY3-M5-C1S 3 [M5X08| 26.2 | 13.0 | 35 11 | 70x77| 109 | 70 | 60 | 63 | 25 | 20 | 20 — -
EY4-M5-C1S 4 [M5X08| 40.9 | 207 | 4.0 14 [100X110[ 139 | 11.0 | 97 | 100 [ 20 | 32 | 20 | 20 | 9.0
%| EY4-R1/8-C1S 4 | RI/8 | 409 | 207 | 9.0 14 [100X110[ 139 | 11.0 | 97 | 100 [ 50 | 32 | 30 | 35 | 11.0
EY6-M5-C1S 6 [M5X08| 442 | 207 | 4.0 15 [120x130] 152 | 122 | 125 | 130 | 20 | 42 | 20 | 25 | 120
%| EY6-R1/8-C1S 6 | RI/8 | 462 | 247 | 9.0 15 [120X130] 15.2 | 122 | 125 | 130 | 45 | 42 | 45 | 90 | 150
| EY6-R1/4-C1S 6 | RI/4 | 486 | 247 | 120 | 15 |140X154/ 152 | 122 | 125 | 130 | 7.0 | 42 | 45 | 9.0 | 220
%| EY8-R1/8-C1S 8 |RI/B | 517 | 287 | 90 16 |140X154 16.8 | 142 | 145 | 150 | 60 | 42 | 60 | 175 | 20.0
%| EY8-R1/4-C1S 8 | RI/4 | 517 | 287 | 120 | 16 |140X154/ 16.8 | 142 | 145 | 150 | 65 | 42 | 65 | 200 | 25.0
L1 %| EV10-R1/4-C1S | 10 | R1/4 | 597 | 35.0 | 120 | 19 |[170X185 187 | 175 | 175 | 180 | 80 | 42 | 80 | 275 | 33.0
P4 4D %| EV10-R3/8-C1S | 10 | R3/8 | 59.7 | 35.0 | 14.0 | 19 |[17.0X185| 187 | 175 | 175 | 180 | 9.0 | 42 | 80 | 280 | 41.0
%| EV12-R3/8-C1S | 12 | R3/8 | 67.2 | 40.0 | 14.0 | 20 [190X210| 20.7 | 20.0 | 20.0 | 205 | 10.0 | 4.2 10 | 400 | 520
: | : L ! %| Ev12-R1/2-C1S | 12 | R1/2 | 702 | 40.0 | 16.0 | 20 |[220x240| 20.7 | 20.0 | 20.0 | 205 | 120 | 42 | 95 | 40.0 | 70.0
I N N . S
& ;;\ﬂ;; w KBRS
i ik
N ~ >
ol $d2 @ 1> FHAX
fmj nTU = F 7 Hx ¢ IR
2 a= L | L 1-7 —Z=| Ps | P w D | d & |Bh
Y 3 e e 11 A Fizx| —EE 4 1 2 |& HiES| EHE
< — (inch) | (M) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (q)
T EY1/8-M5-C1S | 1/8 |M5X08| 27.0 | 170 | 35 11 |8.0x88| 1.5 | 9.0 | 80 | 80 | 25 | 32 | 25 - -
$di
M7 U
A<t
/ $d1
I 48 | \HRoyMixE
EIIJ
?fy
W gl
I{“
o
I XxIvyyFaxss
@IUH1X
ol F T1 ! Tyvr— | Tyor—
Fa=7 L Fan=7 H. Hz PN 2
& & g‘i& BAEX 4 NaRE | NELE sz E# RNORE | BHkEE| HE
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm?) (9
EPC3-C1S 3 24.8 11 12.0 9.0 45 15.0 1.6 2.0 2.5 -
Q1 FHAX
i F T trose—[mosa-
Fa=7 L GFa=7 Ha b3 R aNLE
G SME BARE NiRE | rwE | A8 R
(inch) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm?) (@)
EPC1/8-C1S 1/8 25.5 11 14.0 11.0 5.5 18.0 1.6 25 — —
T1 F
I L
Ha/ [t] \Ha
L

116



